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 A typical C1 Exam Question 
Given that the equation kx²+12x+k=0, where k is a positive constant, has equal roots, find the value of k               Click here for Autograph file
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 Open a new graph page in Advanced Level (or click opposite)
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 Enter equation: y = kx² + 12x + k
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  Use the ‘Zoom’ and ‘Drag’ options as appropriate to see the graph clearly, as shown opposite.
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 Use this option to change ‘k’ (use Step:1)
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	ACTION: A repeated root is shown opposite – investigate to find the value of ‘k’ in this situation.

In the examination you will have to demonstrate understanding of the Algebra that establishes this value.

This involves solution of:

b² − 4ac = 0
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	Exam Solution:
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